Goals · Limit laws . Squeeze theorem	24. <u>TX</u> 11
· Continuity	
Limit laws f, z defined for x +	a in an open interval containing
a, $\lim_{x \to a} f(x) = L$, $\lim_{x \to a} g(x) = L$	M. Taka ca constant.
• $\lim_{x \to 0} (f(x) + g(x)) = L + M$	$\lim_{x \to a} \frac{f(x)}{g(x)} = \frac{L}{M} \text{for } M \neq 0$
x-ra limit of a sum z sum of limits	
f(x) = cL	* $\lim_{x \to a} f(x) = L$ for all positive
$\int \sin f(x)g(x) = L M$	about n<0
	$A = f(x)^{-2} = \frac{1}{f(x)^2} \text{ if } L=0, \ L=0, \ L=0, \ NE$

. In f(x)'' = L''' for all L if n is odd and for L > 0 if n is even and $f(x) \ge 0$ Eig. $\lim_{x \to a} \sqrt{f(x)}$ Q Why the restrictions in the last law? $= \sqrt{\lim_{x \to a} f(x)}$ for 20 E.g. $\lim_{x \to 0} \frac{3x^2 + x - 5}{\sqrt{x + 4}}$ Note $x + 4 \xrightarrow{\times} 0$ and $x + 4 \ge 0$ near x = 0, so $\sqrt{x + 4} \xrightarrow{\times} 0$ $\sqrt{4} = 2$ Also $x^2 \xrightarrow{\times} 0$, $x \xrightarrow{\times} 0$, so $3x^2 + x - 5 \xrightarrow{\times} 0$ $3 \cdot 0 + 0 - 5 = -5$.

Thus $\lim_{x \to 0} \frac{3x^2 + x - 5}{\sqrt{x + 4}} = \frac{-5}{2}$ i.e. p is continuous Thus For p, q polynomials, $\lim_{x \to a} p(x) = p(a)$ and $\lim_{x \to a} \frac{p(x)}{q(x)} = \frac{p(a)}{q(a)}$ for $q(a) \neq 0$ If $p(a) \neq 0$ and q(a) = 0, then $\lim_{x \to a} \frac{p(x)}{q^{(x)}}$ will be infinite or not exist; if p(a) = q(a) = 0, then $\lim_{x \to a} \frac{p(x)}{z(x)}$ may or may not exercise.

If p is a polynomial, and p(a)=0, then $p(x) = (x-a) \cdot q(x)$ Note that $x^2+x-6 = (x-2)(x+3)$. Thus $\lim_{x \to 2} \frac{x^2 + x - 6}{x - 2} = \lim_{x \to 2} \frac{(x - 2)(x + 3)}{x - 2}$ polynomial $x^{2} + x - 6 = (x - 2)(x + 3)$ $= \lim_{x \to 2} (x+3)$ $\rightarrow ax^{+}bx+c=0$ $\Rightarrow x = -b \pm \sqrt{b^2 - 4ac}$ = 2+3 = 5 2a

 E_{-q} $\lim_{x \to -1} \frac{\sqrt{x+2} - 1}{x+1}$ has indeterminate from $\frac{0}{0}$ at x=-1. Trick: Multiply by $\sqrt{x+2} + 1$ $\sqrt{x+2} + 1$ (y+a)(y-a) $= y^2 - a^2$ Doing so gives $\lim_{x \to -1} \frac{\sqrt{x+2} - 1}{x+1} = \lim_{x \to -1} \left(\frac{\sqrt{x+2} - 1}{x+1} \sqrt{x+2} + 1 \right)$ = lim ×+2 -1 $(x+1)\left(\sqrt{x+2}+1\right)$ $= \lim_{x \to -1} \frac{1}{\sqrt{x+2} + 1} = \frac{1}{1+1} = \frac{1}{1+1}$

Problem Evaluate $\lim_{x \to 1} \frac{x+2}{(x-1)^2}$ by thinking about x+2 $\frac{1}{(x-1)^2} = (x+2) + \frac{1}{(x-1)^2}$ $\lim_{x \to 1} \frac{x+2}{(x-1)^2} = +\infty$ Ą

y=h(x) Squeeze Theorem y=q(x) If $f(x) \leq g(x) \leq h(x)$ near x = a and $\lim_{x \to a} f(x) = L = \lim_{x \to a} h(x), \text{ then } \lim_{x \to a} g(x) = L$

lim Sin X (us x, sin x) X OFX (0,1) By the diagram, for tan x $0 \le x \le \frac{\pi}{2}$ TIN arclingth 0 ≤ sin x ≤ x ≤ ten x (1,0) (-1,0) ωςx of sactor of unit circle Divide by x : is x; thin $\frac{O}{X} \leq \frac{\sin x}{x} \leq \frac{x}{x}$ (0,-1) angle is x radians Sin x Claim cos x $1.1. \quad 0 \leq \sin x \leq 1$ squeeze! Got confused here!

Fil	As observed, sin x < x < tan x.
· · ·	Dividing by sin x:
	$\sum_{i=1}^{n} \sum_{i=1}^{n} \sum_{i$
	τ and τ
	Inverting everything (which switchis order)
	$\sum_{i=1}^{n} \frac{\omega_{i}}{\omega_{i}} \times \sum_{i=1}^{n} \frac{\sum_{i=1}^{n} \frac{\omega_{i}}{\omega_{i}}}{\sum_{i=1}^{n}} \leq 1$
	Now say let $x \rightarrow 1$ and $1 \rightarrow 1$
	$X \rightarrow 0^{+}$
	So $\xrightarrow{X} \xrightarrow{K \to 0}$ Morel exercise: $X \to 0$ works